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# xarray (152,158,164,170,...) D & 3 THtE =5 <
xarray = x=seq(152,188,by=6)
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ggplot() + geom_function(fun=function(x){dnorm(x,170,6)}) +

ﬁ*ﬁ scale_x_continuous (limits=c(140,200) ,breaks=xarray,name="X") +

geom_vline(aes(xintercept = xarray),linetype="dotdash")
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# YT NIDtHRE (MAHEER)
t.test(x1,mu=175,alternative="two.sided"

#data: x1
p-value = 0.1823

#t = -1.4453, df = 9,
#alternative hypothesis: true mean is not equal to 175

5 percent confidence interval: -
] P AIHRTE D 95 %15 ¥8 X

[JRERERITEN S L L]
BEHOFHEI
175cm e F L L &Ly,
slEnz i v

p=0.18 (BEE%4L)

156.2739 179.1261
#sample estimates:
# mean of x
#167.7

# Y TINVIOtKRE (TREE)
t.test(x1l,mu=175,alternative="1ess")
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# #%MER (pre) Li#EME®. (post) ODEE t.test(change,dm=0,alternative="1ess")
pre = c(95,890,80,85,75,75,80,85) #data: change p<0.05 (BBEHY)

post = c(90,75,75,75,80,65,75,80) #t = -3.1, df = 7,|p-value = 0.009
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